Net-Access Cable Management Panel
Part Number(s) : SN7VCM & SN8VCM

© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029ML

JTool List:
e 8mm Hex Driver

n:@m
Y S
. Q%QQ
= AN
s _\e
TR D\

3
ANy
=\

<
Y
A=Y
Q

=
N
Y
.

A N
B2
|2_Q VA
R QQ@

ANy
D

M5x0.8 x 10mm
Hex Head Screw
Qty: 8

=
AN

a8
s @
Q

t D
N
=
“‘5@

ANy
D

CMP Panel Mounting
Bracket Adapter
Qty: 2

A S
B D
= '@
“ﬁ@ °

Q‘:@ q“
2 2
A=\

Q
D

CMP Panel
Stationary and expandable
Qty: 1
(Panel comes ready to Install in a
42RU high cabinet)

D
=
nﬁa

AvY

\

CMP Panel
Installed on an
N-Type Cabinet

CMP Panel
Installed on an
S-Type Cabinet

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 4



© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029ML

Adjust CMP Panel to desired height (Panel comes ready to install in a 42RU cabinet

» For RU heights other than 42RU; Remove the (3) M5x0.8 x 10mm Hex Head Screws.
» Slide the top portion of CMP Panel up to desired postion and reinstall the (3) M5x0.8 x 10mm Hex Head Screws.

:ﬁﬂ@p_a\@ s
IR S - B @ 6
:[ Sk ‘BB ® 6

@@‘Zﬁ 45RU 0o o0 of

S ® 6 6 0
aﬂﬂ o O o O o O

jo

"L B ® @ 6

0@0@999 0o o ol
@

5o A 6 6 o

ga OO OO0 OO

%

LT M @ @ 6
@@ﬁﬂw ) 0o ol oD
0@ Remove and reinstall (3) ool

ﬂ@@@fﬂ M5x0.8 x 10mm g

EL Hex Head Screws S,
R Torque to 5.1 £0.6 N-M (45.0 5.0 in-Ibs) 0o o0 o0

Y at desired height ahen

P,lee” (45RU, 48RU, or 51RU) 7o e en
LR GRGRGEG

7o a 0o ol ol

2 e ee ®e 06 60 G0 G
il G 6 ce e e
0B 60 G G
0o ol ol
il G Wi
[ ]
@ 0B 6@ @B
0 00 6 6
0o ol of
@ @ 6 @O
48RU A B @ o 51RU oo
e =0 = 0o o0 ob
G 68 b 6 GGG
@ B @ @D
0o ol ol UEE EBD[ES EBU
0B 6f 60 GO @B B
@ ® @ 0 G @ ®
Pe =P =F 0o o0 o0
@ 0 6 0 & @ ®
Gil [ 0 67 6B 0B 0O
Uo ol ol 0o 50 oU
6 0@ 6 o H B @
i G @
Uo ol ol 0o ol ob

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 4



© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029ML

Install CMP Panel onto the Cabinet

» Attach (2) CMP Panel Mounting Brackets to the CMP Panel using (4) M5x0.8 x 10mm Hex Head Screws.
+ The CMP Panel can be mounted anywhere along the cabinet side rail on either side of the cabinet.
+ Attach the CMP Panel Assembly at desired location using (4) M5x0.8 x 10mm Hex Head Screws.

M5x0.8 x 10mm
Hex Head Screw
Qty. 4

CMP Panel
Mounting Brackets
Qty. 2

M5x0.8 x 10mm
Hex Head Screw

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 4




V00029ML

INSTALLATION INSTRUCTIONS

© Panduit Corp. 2017

Optional Accessories - not included

Install L-Rings in orientation shown.
(Reference Installation Instructions CM615C

Install D-Rings in orientation shown.
(Reference Installation Instructions CM108B

for further Information.)

and CM615C for further Information.)

Install Tak-Tys through lashings in CMP Panel.

o

@

Tak-Ty

Lashing

E-mail:
techsupport@panduit.com

PaNDuUIT

For Instructions in Local Languages
and Technical Support:

] Phone:
www.panduit.com 866-405-6654

www.panduit.com/resources/install_maintain.asp

Page 4 of 4



